R1

: %E ()] (mA)

28
26
24
22

18
16
14
12

0.8
0.6
04
02

kQ kQ

http://www._omega-denshi.com page 1/8



http://www._omega-denshi.com

VR

R1

310

m —
O —

00—

()

(mA)

28
26
24
22

18
16
14
12

08
0.6
04
0.2

page 2/8




2.2

http://www._omega-denshi.com

33

51Q

T = "
u

0

10

| 1] 2

ECB 30

40

50

60

70

80

90

100
12
10
8
6
mA 4
2
0

0 20 40 60 80 100
(uA)
page 3/8




A -
Rb
o o IT' VR
Q 77
1
ECB
0.01 0.03 0.05 0.07 10
0 9
1 8
2 7
3 6
4 5
2 4
6 3
! 2
8 1
9 0
10 01 2 3 456 7 8 9 10

http://www._omega-denshi.com

page 4/8




RL

m —
O —
00—

0 10
1 9
2 8
3

7
4 6
5
6 5
; 4
8 3
9 2
10 1

0

http://www._omega-denshi.com page 5/8



kQ

© 00 N o o1 | W Nk O

—
(@]

http://www._omega-denshi.com

R
1
VR R
ECB
10
9
8
7
6
5
4
3
2
1
0
page 6/8




R R
I
Q
R R
Q
N 77
o o
>
>
o
Q
Q
o

http://www._omega-denshi.com page 7/8



http://www._omega-denshi.com

L/

—_ 1
L=N
E
=2 05
0 1 1 1 1 1 1 L L L
0 04 0.8 1.2 16 2
vd(V)
RL
=
s
10
8 K
- b ~
L=1
/SN
Y/ —
0 %I 1 1 1 1 1 1
0 1 2 3 4 5 6 7 8 10

page 8/8




